ALK R (EBRICIREE L2/ R) BAORRIZONT

RAEMEE : T2 2 A BRI e v Z—
BREFE (1)

(2)
RO @ SFERk24% 9H10H~ 9H 14H

¥ & H: k244 9H15H

ZF O

AR D IR B

miEEEAER

AT

FRORAETR

TN~ =0 LEERBREGRIC LD vy AT b A B =2 & DT
IR THEREICRE L1842 1#EE (RIS H) 452 IThE

(D ARHFRRIE & 13 2 o CHRINT 2 2 LB HDRD R/ DETH Y, MARE,
WL T—ETIEHDY THA,

@ FEHICH 2> TE, FAEIUC K 2 EZ R (nSv,/Ba), /NARIZT7~1 2

(3) 18

ks
s

FERRIT1 2~ 1 7TafiH LE L,
FEEDBRELIL, 20®UTOFELILT7 0mEICR D TITHIEL T2,

RANBHEPIELS LTS 5 0 FERICHIT T D/ETT,
(1) /AR OBATRR S L ONERIE < OTHFERZ#R &

HIERE R (B - B TBRME)  HAZ : Ba/ke FeEEE > 7 LD
A wEE (ke) R R PEBBRIE < THRE IR0 =
BRI UR | Lowri34|wemalar (mSv)
AR AR AR
1 FASE UL/ N 3. 388 1.0 0.9 1.0 0 ~  0.000077
AR AR AR
2 FHEN/INFER 2.833 0.8 0.9 1.1 0 ~  0.000067
ANk Ak Ak
3 B/ N 3. 294 0.9 1.3 0.9 0 ~  0.000090
Ak ANk ASKR
4 EH/NFER 3. 141 0.6 1.3 1.0 0 ~ 0.000089
[#R 4]
() B w1 340BHETIRMEN0. 9, B 7 A1 370BRHTRELL 1, EEORER
733, 231ke DA
0.9 X 0.000014 X 3,231 + 1.1 X om0 X 3,231 = 0. 000076
[ DFHERKIZSNT]
A1 34 Y137
o - Rl AT
BRI X Lomimy X RERG) |+| RITFRE X Lyg20 X Rl [=| WHARECHRERDRE
1 0.9 X oomots X 3,388 |+ 1.0 X o000 X 3,388 |= 0. 000077
2 0.9 X oomots X 2,833 [+ 1.1 X 000000 X 2, 833 0. 000067
3 1.3 X o000 X 3,294 |+ 0.9 X 000000 X 3,294 0. 000090
4 1.3 X oomots X 3,141 |+ 1.0 X o000 X 3,141 |= 0. 000089
(2) PR ORI L OWERHIE < OTEFEERR &
HIERE R (P B : MR TBRME) AL : Ba/ ke Wt > ™ A
FRR4 EE (ke) R R WIS < THREE DN =
BRI UR | Lowni34|vemalar (mSv)
ASKR KR KR
1 I R 3.113 1.0 0.8 1.4 0 ~  0.000104
ASKR KR ASKR
2 M =R 2.685 1.0 1.3 0.9 0O ~  0.000098
ASKR ASKR KR
3 A IR 3. 523 0.8 1.0 1.2 0 ~  0.000122

(AR #]

() B w1 340K FREN0.7, B WA 1 370K FRMEA0. 8, B DRER
733, 231ke DA

0.7 X 0.000019 X 3.231 + 0.8 X 000003 X 3,231 = 0. 000077

[#4% DFHR K]
TL U A134 €L UL137
5.3 iR NG
B FIRE X AT il (k) || B EERE X AR X Rl (k) |= | EEECREESR R

1 0.8 X 0000019 X 3,113 |+ 1.4 X ooo003 X 3,113 |= 0. 000104

2 1.3 X 0000019 X 2,685 |+ 0.9 X 000003 X 2 685 0. 000098

3 1.0 X 0000019 X 3,523 |+ 1.2 X oo0003 X 3,523 |= 0. 000122




